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THE STORY OF VILLAGE PALAMPUR

Question 1.

What is the main reason behind growing three different crops in a year?
Answer:

The village has a well-developed system of irrigation.

Question 2.

What are the main factors of production?
Answer:

Land, labour, physical capital and human capital.

Question 3.

Machinery, work plants, equipments, new technology, buildings are the example
of

Answer:
Fixed capital

Question 4.

Consumption of chemical fertilisers is highest in which State of India?
Answer:

Punjab

Question 5.

The quality of resources which can be improved through investment in education
and training is the

Answer:

Human capital



Question 6.

Why is there heavy competition for work among the farm labourers in village
Palampur?

Answer:

Because people are ready to work for lower wages.

Question 7.

To grow more than one crop on a piece of land during the year is called
Answer:

Multiple cropping.

Question 8.

The use of higher yields with combination of HYV (High Yielding Varieties) seeds,
irrigation, chemical fertilisers, pesticides, etc. refers to

Answer:

Modern cropping.
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